
 

4

I  

1  

uL(t) =L  di/dt 

2 
dt

di
Lriu

ABAB
 0

dt

di
 

30Ω
0,05

1,5

I

u
rrIu AB

AB
    

II  C , L  

1 1
C

q
u A

AM
 

uAMqA

2uAM = Ri 

uAM

2  

uBM = 0

1

uBA + uAM + uMB =0 

+0=0
C

q
A  Ri + 

0
1


A

A q
Cdt

dq
R 

0
1


A

A q
RCdt

dq
……………1

2

uBA + uAM + uMB =0 

00
dt

di
Lri  Ri 

0)( 


ti
dt

di

rR

L
2

3 1τ1= RC 

2
rR

L


 τ2=



 

4 1   τ1=1 msF6

3

3

1 10
10

10

R

τ
C 



 

2   τ2= 48 µs ومنه L= τ2(R+r) =48.10
-6

 .1030 =0,0494 H       

III  

1  

2 I0=0,08A   ,   N0= 700 H        

3 
LC

N
2

1
0
 

L,C

716H
0,0494x102π

1
N

60




%2
716

700716







N

N

4 
rR

U
I eff

0


 

Ueff = 5 VR+r = 62,3 Ω 

A08,0
3,62

5
I

0
 

 

 


